

Cormac Ronan cormac.ronan@heathergardensmail.com

Rendezvous Restaurant 2888 South Heather Gardens Way Aurora, CO 80014 US Ryan Demsey ryan.demsey@toasttab.com

HARDWARE					
Product Name	List Price	QTY		Additional Discount	Total Price
Toast Flex, Toast Tap (Direct Attach), Toast Printer, Cash Drawer	\$999.00	1			\$999.00
Toast Flex, Toast Tap (Direct Attach), Toast Printer	\$950.00	2			\$1,900.00
Toast Go 2 Pay at Table (Black)	\$474.00	4			\$1,896.00
Toast Flex for Kitchen (Wall-Mounted)	\$699.00	2			\$1,398.00
Meraki Z3 Router KIT (North America)	\$275.00	1			\$275.00
Ubiquiti Indoor Wireless Access Point	\$150.00	1			\$150.00
Ubiquiti Outdoor Wireless Access Point	\$149.00	1			\$149.00
TP-Link 16 Port POE Switch	\$155.00	1			\$155.00

SUBTOTAL \$6,922.00

1

POS SOFTWARE

SOFTWARE					
Product Name	List Price	QTY		Additional Discount	Total Price
Toast Tables Plus (Reservations + Waitlist)	\$199.00	1			\$199.00
Marketing Suite Gift Card Program Subscription Loyalty Program Subscription Marketing Monthly Subscription	\$175.00	1			\$175.00
Restaurant Basics Package Software Subscription Payroll Integration	\$110.00	1		15%	\$110.00

SUBTOTAL \$484.00

TABLET SOFTWARE				
Product Name	List Price	QTY		Total Price
Additional Tablet Monthly Software Subscription	\$50.00	2		\$100.00
Kitchen Display Screen Monthly Subscription	\$35.00	2		\$70.00
Handheld Monthly Software Subscription	\$50.00	4		\$200.00
SUBTOTAL				\$370.00

SUBTOTAL \$837.50

INSTALLATION				
Product Name	List Price	QTY	Additional Discount	Total Price
Access to Onboarding Specialist Hardware Installation Walk Through Configuration Menu Build (not customer facing; template required) Menu review with customer (2 hours) Remote trainings 60 min - Staff 90 min - Managers Go Live Support (4 hours) Access to extensive catalogue of Toast Setup support and Training materials	\$1,049.00	1		\$1,049.00
Additional On Site Toast Contractor 8 hours of onsite labor Up to 10 terminal installs Manager or Staff training	\$1,000.00	1	100%	\$0.00
Gift Card Conversion: Completed by Toast Conversion to Toast Gift Card Program, completed by Toast Guest Specialist For customers migrating a prior gift card program to the Toast Platform	\$100.00	1	100%	\$0.00
Full Menu Build	\$400.00	1	100%	\$0.00
Loyalty Conversion: Completed by Toast	\$200.00	1	100%	\$0.00
Conversion to Toast Loyalty Program,				

completed by Toast Guest Specialist For customers migrating a prior loyalty program to the Toast Platform

\$1,049.00
\$1,049

One Time Charge:	\$7,971.00
Recurring Charge:	\$837.50

CREDIT CARD PROCESSING RATES

V/MC/D SWIPED RATE V/MC/D SWIPED FEE V/MC/D KEYED RATE V/MC/D KEYED FEE

 Amex Rate:
 0.000%

 Amex Fee:
 \$0.00

TERMS & CONDITIONS

PAYMENT TERMS – HARDWARE & IMPLEMENTATION ACH on Shipping SOFTWARE Billed Monthly CONTRACT TERM 24 months CONTRACT START DATE DEPOSIT AMOUNT \$3985.5

The prices quoted above are valid until the expiration date listed in footer.

The quote is an estimate, subject to change and does not include sales tax or shipping.

3 Year Meraki License Fee included with purchase of any Meraki Networking equipment. Customer pays additional license fees after year 3.

*Additional terms are detailed here: http://pos.toasttab.com/services-details



IMPLEMENTATION TERMS & CONDITIONS

This quote reflects our best estimate of the number of days required to install the hardware, work with you to setup the Toast software, conduct basic POS training with your staff, and support you during your first day live. These estimates are based upon our understanding of your business and installation needs as well as our experience with the amount of time we have spent on similar customers in the past. However, this is just our best estimate. The days billed may change if scope is expanded at your request or if the work becomes more complex than our understanding at the time of this and fees will be adjusted accordingly.

Standard Toast hours are 7am to 9pm local time, Monday - Friday. Toast service days are assumed to be 8 hours long. Onsite & Remote Site Surveys, Hardware Installation and Staff Training is available Monday - Friday 7am-9pm local time. Additional hours accrued will incur additional fees for each technician required.

3rd Party Implementations include onsite installation but REMOTE configuration, training and go-live support

Toast does not provide cabling services and the estimates provided above do not cover cabling costs. If cabling is required Toast can recommend a local partner.

Site readiness is very important and a key driver to a successful go-live. Toast's site readiness requirements can be found here http://cdn2.hubspot.net/hubfs/412971/New Customer Welcome/Toast Site-Readiness-Requirements.pdf. If our technicians arrive onsite and are not able to install the system because requirements were not met, then a service fee will be assessed.

After scheduling an installation / go-live date, you have until 7 days before the scheduled date to cancel the service appointment. Canceling within 7 days of the service appointment will incur a service fee for each and every day canceled.